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Objectives: JRATLY
| can solve a rational equation algebraically
| can identify extraneous solutions

| can solve real-world problems using rational equations
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Solving Rational Expressions

@Nhen one rational expression = one
tional expression (proportion)...cross-

multiply

2. When a sum or difference of rational

expressions = another sum or difference of

rational expressions...kill the denominator
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Cross- Multiply
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Cross-Multiply
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Cross-Multiply
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Kill the Denominator
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Solve the rational equation algebraically pg. 504
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10. Jake can mulch a garden in 30 minutes. Together, Jake and Ross can pg. 506
mulch the same garden in 16 minutes. How much time ¢, in minutes, will
it take Ross to mulch the garden when working alone?

5+ Q = $K
| o\o\rdzvl _‘_ ard) _ Jﬂ




November 14, 2016

Your Turn Pg. 504

4. Kevin can clean a large aquarium tank in about
Zhewurs=When Kevin and Lara work together,
they can clean the tank in 4 hours. Write and
solve a rational equation to determine how long,
to the nearest tenth of an hour, it would take
Lara to clean the tank if she works by herself.

Explain whether the answer is reasonable. K ? {
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« Suppose Jeremy can paint an entire house in 12
* hours, and Carrie can paint the same house in 8 hours.

 How long would it take the two painters together to paint
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